2013-2014 £ E R ERS= (14) F£4
¥E G0 BikE
—, R AKX 12 40NEE, BEES S, 604, EF/NEABMOMNEIRS,
A 1MEMEFESEEERM.

Lowgea p=fx> 1), o={® —x > 0f WTAISE TR ( O

A: PcQ B:Q < P C: P=Q D: PUQ=R
e 2 . o s
2. B - S S RSy ¢ D
1+ 7
A —1 B: 2 C: 1 D: 0

/4 3 T 3z
cos(2 a) s ae(2 5 ) D tan o =( )

4 3 3 3
A — B: — C —— D: + =
3 4 4 4
4o B S REEEHIa, | RTTR, 25 S35 Ma%T ()
A 8 B: 7 C:. 6 D: 5

Sv TR xi (=123, n), WG EATEEN x+C (=12.3,+ ,n)  Hf C#£0
W FFI4E R (O
A: RS I AR B: FIME, T EIRFA
C: PR, Ji%% D: IS Iy IR A

6. CURIELFIASKRR MR AN R a= (1,3), b= (m, 2m—3) {7 AL —A i ft
CHTTLME—FIE R R c=A a+pu b, W m MEMETEERE (O
A: (=0,0) U (0,40) B: (-00,-3) U (=3,40) C: (-0,3) U (3,40) D:[-3,3)
7. T AB R y=2x MM, |AB|=4 , W[ AB| S C IOBISRRE (O

A 2 B: C: D:

L 3 S
2 2 2

8. WEERBL f(x)=loga|x| 75 (— 00,0) LY, T fla+l) 5 £2) MIKNERE C )

X

A: f(a+1)>f(2) B:fat])<f(2) C:fla+t])=f(2) D: REEHIE

o = R SR B 1003k 4 7T



9. fEAABC ', fif A\ B. C Frxtilisral o av by ¢, #F acosB+bcosA=csinC,
Ha=b, MMmBET C )
A: 30° B: 45° C: 60° D: 90°
10, CAab &L, H e<a<b, Ht e & HARNEI KL, M a5 b* R/ KFRZE C D)
A a>b* B ab<b* C ab=b* D a*5 b K/NKAANHE

1. ERFERME TR, FHZRFETER 0 Kk @
6, T E&IFIEE So—3E (O A -
A: 31 B: 32 C: 63 D: 64 y

K=0, S=So

12. 5 A B. C. D 7EF—ABREIERTE I, AB=BC=+/2 , e

S=S-2K f iﬁ 1':[:'1 K ;
A

AC=2, #IUfi{k ABCD 4z|s$ﬂﬂ@%j:4aﬂa§ i

ANTR B kS
MERIR AN ¢ ) v i
K=K+1
1257z 257 257
Ar——— B: 87 c: —— D: ——
6 16

= REE: AR 4NNE, BAES T, 3020 7. BERBEEFEL L.

2 2

13 xyﬁﬂz)%y?—x?ﬂ%%@%:% > [ ,—>]
14, FEJUEF = EmE R, Wz AR aigs {
15, BV fa, Jife e, — LT 2E 3t AN
n
JUE &gl { } e nBiAI N
3n3n+1

b .
16 =N 1FEHab,c H/E a<b+c<2a , b<atc<2b N — KEETEEE
a

=\ BER: AR 6B/, 3700, MENTHIXTRY, EHIEREESRE

o = AR SR B 2003k 4 7T



17. CA/NERESY 12 45) W EL fx)=sin@ x+sin(@x— 2) , xeR
2

(0 %a)=%;}2 Ao M B (AR x BB

2) %F%% fx) [—AE, B 0<@<10, R o KR fx) KN E R .

18 (A/NELHAY 12 43) HEiA T TS m i Bl AR BARRRIRBL,  MAS T 3 s v Bl
PErp R E 7 — AN PEHAT AR ERIINR, REE 8.0 K CRSHAE 0.1 2K) DLEI A&, 5
AT RS, 3 6 4L A A A BT I — 4y, CnED 2B 5 A
INHLEIARZE S BN 0.04. 0.104 0.14. 0.28. 0.30, %5 6 /NHRISIEE 7

035 1  ZHps

0.3 A

0.25 -

0.2

0.15 -

0.1 -

0.05 - ;
- RER (KD
o LA/ 7 -

5.25- 615 705 795 8385 975 10.65

(1) SRIX AR UK STE A% 1N EL
(2) A/ NAREE /N BENLIEOA AN NI ST, WA A RIS Sk B
Al — MRy 2 b2

19+ CR/NEH 53 12 43> Wi, {EDURHE P-ABCD 1, fll[i] PAD & 1E =¥,
JECTH ABCD £ H M IEAD/BC , £ ADC=90°, AD=2BC=2, cD=4/3 ,

SFTH PAD L JEETH ABCD, # M A AD (I /&,  E 24 PC A
(1) RUE: ~F[ EBM L ~F1i PAD
(2) # ZLMEC=90", 3k =#&4E A—BME A FH

2 2

20, CA/NEHA 1249 E%HM(X|,YI)%¢%X—2+Z—2=1 (5b>0) FAERE— A, F i
a

o = R SR 3 33 4 1T



[ MF| L 3R || A
(2) CRIEL n SH +y'=b MY, FSHEZT AL B#A,

HEZ n 5RMVIA QL y MAM, ¥ a=2,b=1 3K AABF KIJH K. w
 CR/NEBHE 12 490 B8 a AFEELaeR ﬁ;m >
l_lﬁ[ f(x)=x2+ax—1nx, g (x)=e" (HH e ;& H AT HIEED \&AB/ S

(1) S ARFRIR A O M Hl 2k y=f) FIVIZE, BebT AN P(xo,yo)s 3K xo fI1H
2) 4 F(x):fEx;, R FOOTEIX ] (0,1] A& i s 4, 5K a MUV
g(x

EHAEES 22, 23, 24 —BPEE—BIEE, MRSHRFHE—BT2.

22, CA/NAH Sy 10 43D C0f&E 0 /5% CD 5 H 4% AB T EH AT A F,
A EFECD |, H AE=CE
(1) 3RiIE CA*=CE » CD

(2) ©VF1 CA=5, AE=3 3K sin £ EAF

23 AN 73 10 73R N a B2 LI P (8, 2), gej%mug%%c{ —4\/560s9
y =2sin6

(ONZH) TR M, M (1D K ihd C SHOTRNEE TR, F+5
HE L MSHOTRE (2 K|pm || Pm,| FHUETE

24, RN 10 45) CRBE f0=[2x — a| + a

(1) A% f(x) <6 MM {x]-2 < x <3} k9% a 0l

(2) HEMMIZFM T, AR, ﬁf(%) < m— £(=t) WAL, RH m AEUE .

o = R SR B 403 4 T



